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& Write your name and Admission number in the spaces provided at the top of this page.
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This paper consists of two sections: Section I and Section 1.
Answer ALL questions in section 1 and ONLY FIVE questions from section II

All answers and workings must be written on the question paper in the spaces provided below eanh
question.

Show all the steps in your calculation, giving your answer at each stage 1n the spaces below each
question.

Non - Programmable silent electr onic calculators and KNEC mathematical tables may be used, except
where stated otherwise.
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SECTION I-tanswer all the 16 {'%e%‘f'z'gm_ in this section-50MARKS)

1. Use tables of square roots and re':iproca[{‘@(gbles to evaluate to 3 decimal places the problem below.
©
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% Byletting P=47in the equation 477 —3y4Y 10 =q.

@* a) Write the above equation in terms of P. (1mk)
J
QO
b) Hence find the possible values of y. (3mks)
&

The heights of two similar pails are 12cm and 8em. The

larger pail can hold 2 litres. What is the capacity
of the smaller pail?

(3mks)
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4. Atourist arrived in Kenya with sterling pound @?4680 all of which he exchanged into Kenyan money.
He spent Ksh. 52,352 while in Kenya converted the rest of the money into U.S dollars.
Calculate the amount he received in U.S,b.dbl ars. The exchange rates were as follows. {3mks)
R
)
Currency Q\){—%uy]ng Selling.
<
us$ & 65.20 69.10
Sterling Poundg¥) 123.40 131.80
X
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<<°& 5. Find the equation of the perpendicular bisector of the line AB where A

is(3,9)andB is (7, 5) giving your

answer in the form ax + by + ¢ = 0. (3mks)

6. Solve the fol lowing inequality and show your solution on a number line. (3mks)

4x-3< (x+8)<x +5
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From a viewing tower 30 metres zbove the gr@imd the angle of depression of an object on the ground

30° and the angle of elevation of an a.ruQ(?t vertically above the object is 42", Calculate the height of

~
.'f -

ihe aircraft above the ground. be-c° (3 mks)
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&" Estimate the area bounded by the curve y = — 2 + 5, the x- axis, the line x=1, and x=5 using trapezium

J .
L rule with 4 trapezia.
&

(Bmiks)

9. Intersect chords in the figure below CD = “dem, line DT=8em and AB = 6em.

T, La]{,u ulate the length BT

3mks)
2 \

A '

AT and CT meet at point
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10. Find the standard deviation of the data beiow;(%ﬂ%(s)
35,37,37,40,30,34,33,38 Qrz&
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11. On the Iin%cg\?gmeﬂt AB below:

i.(OQConstrur:t on one side of AB the locus of P, such that ZAPB = 90°

A

1B , ,
o - Measure the length -fh— and hence calculate the area enclosed by the locus P and the line
< 2

<<\

° segment AB. (4mks)

Y
&

12, A carpenter constructed a closed wooden box with internal measurements 1.5 metres long, 0.8 metres
wide and 0.4 metres high. The wood used in constructing the box was 1.0cm thick and has a density of

0.6g/cm?.Determine the mass, in kilograms, of the wood used in constructing the box. (Leave your
answer to 1 decimal place). {3mks) *
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SECTION 1l (Answer only any fiva,g«,r%esﬂons in this section-50 MARKS)

(o
17. A R i AR o , i} ) ‘
/o Aasurveyor recorded the measurements U(Jb'é'%lu]d book using XY=400m as the base line as shown below.,

By 6®Q
To E 200 320 ee‘#o
N
210 §\ 150 Te D
To F 250 10 150 To C
&%
50 225To B
*6
& X 100 To A
N Q
&
a) Use\k_g&-a]e of lem to represent 50m to draw the map of the field. (Smks)
<
&*
<
\
Y
&
b) Find the area of the ficld in hectares (5mks)
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- 18.(a). Use graphical methods 1o solve the silgﬁﬁaneous equations below. (Smks)
" N
IXx=v4+12 Qré.g
3x=2y+2 2

(b). Use matrix method to solve for th

1€ values of x and y that will satisly the simultaneous equations
below. (Smks)

7x—y=-33
3x-2p=-22
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3 , 9
19..a) Train A leaves a station 45 minutes before tgpin
speeds are 36km/h and 48km/h respectively R

i) How long will it take train B to catch uggg‘}ith train A?  (3mks)

6®Q

B. Both trains travel in the came direction and their

ii)How farg&on the start were the two trains when they met. (2mks)

Q’b‘
<
&

b) A car accelerated from rest to 3 velocity of 10m/s in 10 seconds. It travelled at this velocity for 20 seconds
and then came to a stop in 5 seconds. Find;

i) The initial acceleration.

(2mks)
i) The distance travelled. (2mks)
iii) The average velocity. {1mk)
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20. The figure below shows a circle centre O in \%Bﬂ_h QOT is the diameter Angle ZOTP = 46", angle

ZTOR =75% and angle ZSRT = 38" PTU,\EQ]d RSU are straight lines,

¥
Defggﬁine the following, giving reasons in each case:
\L_

((&g%} Angle RST (2mks)

(b) Angle SUT (2mks)

(c) Angle PST

(2mks)
(d) Obtuse angle ROT {2mks)
(e) Angle SQT (2mks)
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) Express the folifving in terms of
a) Express the olRWing in terms of vectors a and ¢
i) Ac R
o (Imk)
Q’b’
<
&
o AX
g (Imk)
Q\
<
\
Wi mx
((0\ _ (2mks)

B A ' . - :
) IfAY =hAB and MY = AMX. Express MY in two different ways hence find the scalars iz and

(4mks)

¢) Find the ration AY: YB (2mks)

11
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23. The following are masses of 25 students in 1"0:'@.2‘c1a55.
48,.51,.50; 60,5545, 56, 51, 58, 59,40, 54, g&Q
X

)
44,42, 59, 50, 62, 46, 43,57, 56, 52, 43391,
<

<)
(a)  Preparea Irequency distribution ‘ra@é’with a uniform class size starting with the class 40 — 43.
§\\® {4mks)
X
N
Q}%
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N

(b)  Estimate the median mass (3mks)

(c) Draw a histogram for the data. (3mks)

13
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